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modify state by adding

a queen to an empty column
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until you get a leaf node
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Modify the state to get to

another complete state
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Modify the state to get to

another complete state

successor function – moving

single queen to another square

in same column
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�Assume Euclidean Distance
�Must visit each city once and return to starting city
�Minimize Total distance traveled
�First tour (1,4,2,5,6,3) has distance 62 km
�Second tour (1,2,5,4,6,3) has distance 48 km
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highest successor
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current node
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current node

Local Maxima
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Sometimes one needs 

to temporarily step back 

in order to move 

forward.
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